EEARUTEERYLIEHEF L THRIR PP F

[ARY(DAREEF 20 MERW (FFW-> FHESA ) F#dddet
QFE - B S E % o blde o BN E T BiE - B AR PE % o
()AL NER TP E T o F I T end S X5 0 (2008 117 9 )

‘W
A

R ST L - 2 PR

T TR I T G
1 1 i 73 A
2 1 LS 65 0
3 0 plISE 50 (0]
4 1 &) 53 B
5 0 S 52 A
6 0 plISE 45 AB
7 1 %] 58 0

. ,j/ﬁ O L £ |
(M) [ET (BY"EFI»H@ HOFTHNE  D)FTUE 5 (B) ) R
2. Tt [k pORBEE R
(WVPLE 1D s B)FCE| 24l (OORUE fET - (D)RLE| 47 ¢ (B)EUE[ 1D~ 55 fET -
[&#] (DB~ (2)C

Given the following data (for question 3 ~ 4):

23,11,9,8,17, 25,9,17,16,10, 17,21,14
3. Compute the median (M,). It will be
(A)9 5 (B)10 5 (C)14 5 (D)16 ; (E)17 «
4. Compute the mode (M, ). It will be
(A)9 : (B)10 5 (C)14 ; (D)16 5 (E)17
[é%] 3)D - (4E

8,9,9,10,11, 14,16,17,17,17, 21,23,25

VRIS - 6 PR

X 3 8 4 2
y 6 5 3 7

. XU RBEI s L 2
(A)2.63 : (B)1.71 : (C)6.92 : (D)5.19 : (E)7.12 -
S yf J’rE‘FTaITE!rr EB{fr 2
(A)1.75 ; (B)-1.75 ; (C)0.47 ; (D)-0.47 ; (E)-0.39 -
(] (DC ~ Q)E




X y X y Xy
3 6 9 36 18
8 5 64 25 40
4 3 16 9 12
2 7 4 49 14
17 21 03 119 84

2
o 93 45171 ) /4 6o

84—(17x21)/4

\/93 17)’ /4119 —(21)’

=-0.39

7. Llﬁlfyﬁ‘fé 150 #1252 > FRFFERVT TR 70 55 > RREIRYEY 16

EF TR 60 55 = 8OJJ:¥£§J/ 2p 9
(A)92 ; (B)126 ; (C)132 5 (D)140 ; (E)110 -

(7] B
(2 70-60
Jie
P(60< X <80)> 1—%:1—i 21
k 25 25

150x P(60 < X §80)2150><E=126

8. R AR PR ISR PR T E

blﬁ"
®2: 02 ot e -
(A)% B3 (O50 D)5 (B)oo
(] C
) 1
HILE 4 HT =7 "
P4 87 (1,3),(2,2),(3) 2 78 » it o=

%“E“jﬂ 7]]&*#[&[' 9 - 10 Fyf -

SR B, B, B,
A 12 8 6
A 16 10 12
A 10 12 14

9. B P(A NB,) il ?
(A)0.10 ; (B)0.12 : (C)0.14 ; (D)0.16 ; (E)0.18 ©
RS P(A|B,) K5I 2
(A)0.26 ; (B)0.30 : (C)0.34 ; (D)0.38 ; (E)0.42 -
[i#] (9)C ~ (10)E

i

MRS 4 frofsk
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JiA B; B, B, S
Ay 12 8 6 26
Ay 16 10 12 38
Ay 10 12 14 36
HEE VY 38 30 32 100
P(A NB;)=- =014

P(AZ|BI):§=O.42

ﬁ%‘ﬂﬁm ?/]J'E‘}'ii@[[ﬂ"ﬁrll ~ 12 T

Jﬂ:\flj JA B~ C == EERE ST 50% ~

T HUERSTHIEY 2% ~ 3% ~ 4% o

?}ﬁ’pjﬁ”@ EAENJ; FE#IHI , ﬂiﬁﬁukﬂﬂt L ?

(A)0.016 5 (B)0.027 ; (C)0.032 ; (D)0.051 ; (E)0.134 -

12, F eyl sl A, E[[J:ﬂ ALl 1B 7 et i RS L 9
(A)0.12 5 (B)0.18 ; (C)0.23 ; (D)O 27 5 (E)0.33 «

[i#] (11)B ~ (12)E

30% ~ 20% -

11.

“ﬁF SR P(YlinT))

TG T | SRR
0.5 x2% 0.5 x98%
A .
0.010 0.490 050
0.3 x3% 0.3 x97%
B 0.009 0.291 030
0.2 x4% 0.2 X96%
C 0.008 0.192 020
B [ 0.027 0.973
0.009
P(B~ H| 7 Qpﬁ#) _0333

13. At a certain college, 30 percent of the men and 2 percent of the women are over six feet tall.
Furthermore, 40 percent of the students are women. If a student is randomly picked and is
observed to be over 6 feet tall, the probability that the student is a men is
(A)0.82 ; (B)0.88 : (€)0.90 ; (D)0.96 : (E)0.99 -

[i#] D

P(ﬁ,'J |'[§'| men) =30%, P (E'IJ ]'[E{| women) =2%, P(women)=40%
P (F'[J [’[E{) =0.3x60% +0.02x40% =0.188

P (menm,'J ][:E{) = —O'legg%

=0.957

i GBI 14 ~ 15
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The following table provides a probability distribution for the random variable X.

X f(x)
2 0.2
4 0.6
6 0.2

14. Compute E(X), the expected value of X.
(A)2; (B)3; (C)4; (D)5 (E)6 »

15. Compute &, the variance of X.
(A)1.6 ; (B)L.9 5 (C)23 ; (D)47 ; (E)6.3 -
[i#] (14)C ~ (15)A

X f(x) xf(X) x 2f(x)
2 0.2 0.4 0.8
4 0.6 2.4 9.6
6 0.2 1.2 7.2
4 17.6

EX)  E(x)

o =E(x)-[E(x)] =17.6-4* =16

16. Newton 1t {HId.2 ST [MIR:EIREHI T 75 -
L)

0 0.9
400 0.05
1,000 0.02
2,000 0.01
4,000 0.01
6,000 0.01

P IS & RO R I RER T O BURTS o 1 e
(A)160 ; (B)162 ; (C)164 ; (D)166 ; (E)168 -

(i A
X f(x) xf(x)

0 0.9 0

400 0.05 20

1,000 0.02 20

2,000 0.01 20

4,000 0.01 40

6,000 0.01 60
160

17. Consider a binomial experiment with n=10 and p=0.1. Compute E(X).
(A)0.2 5 (B)0.4 5 (C)0.6 ; (D)1 ; (E)2 «
[##] D

TRSIE s n=10, p=0.2, E(x)=np=10x0.1=1
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18. v GRS B R T E] 30%pY Tl - RIS -
E] R PR R 2
(A)0.05 ; (B)0.09 ; (C)0.11 ; (D)0.14 ; (E)0.17

(] E
TSR n=5, p=03, P(x=0)=(1-03)=0.168

ST 5 2 Pl L BRI 2 FrOA e SRR
£l [H
(A)0.05 ; (B)0.13 ; (C)0.37 ; (D)0.52 ; (E)0.65 -

(i) C
b AR S P(x):%el, E(x)=4, Var(x)=4
A=1, P(x):xi!xe
P(x=1)_%><e =0.3679
20. ;i’ RERST FRE 4R E‘Ugﬁ«n ESIEERIE rst IEHESH (1R
IR EJF&“‘*} A e
(A)0.25 ; (B)0.77 : (C)0.87 : (D)0.91 : (E)0.93 -
[i#] C

A=2, P(x):%xe‘2

0

A=0, P(x):%xe‘z =0.1353

P(x>0)=1-P(x<0)=1-P(x=0)=1-0.1353=0.8647
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